-5 SO H Ol A CDRE =H

n

F

_)6
O T

4
or
OF
El
Ol
X0
o0

It

i[3]

42| SoC &

K

ol
Al
Jo

Rr

K0

==
1o

K X0 %0 %0
NH 0l0 0o 0l

2ESAH

1.

I
oir

CDR
CHar X e




0o

Tl
Kt

NICH Olel J1=

=)
S
=

w0
ne

Lan m
1]}
B
s
M i3]
I -
o X
o) ©
ol =
0k 7t

00
Y]

Kir

ol
X




P = DSt = T = X
. ABSAMESS ) -SHOIEHHO|A COR s 1A
St St
= ;l HESADs) SIHAEZ) ESUE =Fn= oldein=
cZ2I2HY | (3/3)
CERIHYU T2 HE(3/3)
22|2u T2 724U (3/3)
DRSS T2 2H2(3/3)
1
1
st
X2RESH3/3) cZ2I2HY 11(3/3)
= ZoiastmE N (3/3)
AXIGHA T 2242 (3/3)
2
0|5 24 & 2H(6/6) |3 2L & 2 (6/6)
=2l3| 2 LVerilog& H|(6/6) =2l3| 2 YVerilog& HI(6/6)
1
2
iy A S L AIAE(3/3) AS L AIAE(3/3)
2EE P E YA (6/6) 2EE P E YA (6/6)
= MBIMH K SZT2024Y (6/6)
2




I

M Jor
S

na
\:_J

K%
=

x
Je
Jo

OHOI2Z2 =2 AN S & HI(6/6)
CIXIE SAlIEH (6/6)

L HICIS Al AE A HI(6/6)

&I ET-SA RN WFE(3/3)

w

!

LHICIS Al AE S HI(6/6)

HIE I3 4 H (6/6)

DHHY I 2 )24 & | (6/6)
DSPL & 7 (6/6)

HXH3| 2 Y & 3 (6/6)

HEDFHY | (RBS AN (L/1)
I A EA DD DHY AP
MO|LEMKLSA D D=2 U =B (2/:

im

DSP2! & 3|(6/6)
X5l 22 4 i (6/6)

A0tEHI NS ST A(3/3)
HDLE X (3/3)

HAEMLNA | (3/3)

B I(RESEATE (/1)
HEHSSLBH(3/3)
PRTEZAS | (2/2)

N

!

SO1OIEH 0| A B (3/3)
PRTE & A S2 (2/2)

WA S5 32(3/3)

CIAZ3 01 28(3/3)

=519 =54 2 (6/6)

m

SOIOIEH0| A B (3/3)
PRTEZAIE2 (2/2)




oir

T

8l

21/21

or
=]
RO
Ko

58/58

RO

ol ~

ol ™J




SLZ )

&/l Ol & CDR At

B-s0i0l

F

S
=/

Ao

HE2 3

4

2
=

A
|_|.J|
KO
pd
™
Hom 0
HAD o)
o =
Y o
< <
Ho X0
pd olo
ol
W.JH
. )
_:E _|_ND
alJ )
pd
4 = g
50 m oT 4D __|or [0
R = A ™ =
WS ur %o <0z
ol H0 % o R 1B) 0T o
Rr R = R Ko &= U0 <
o 7 3D 3D & 5D ofl 0
=<K 7= 2 r o
[ = a1
- E E




